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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

Police officers should be commended for their service to the community.

1) benevolent 2) harsh 3) hasty 4) peculiar
Despite her arguments, the candidate attracted an enthusiastic following.
1) plausible 2) wholesome 3) specious 4) thorough

Toni has been to achieve musical recognition for the past ten years.

1) prevailing 2) displaying 3) appreciating 4) striving
Thousands of families came here seeking from the civil war.

1) remedy 2) refuge 3) remnant 4) rebellion

Many persons in the were awakened by the blast, and some were thrown from
their beds.

1) thrill 2) urbanity 3) vicinity 4) fatigue

I cannot believe that your parents would such rude behavior.

1) endorse 2) hinder 3) postpone 4) seclude
Although I had already broken most of her dishes, Jacqueline was enough to
continue letting me use them.

1) thrifty 2) indigent 3) financial 4) magnanimous
Even when someone has been found innocent of a crime, the often remains.
1) endeavor 2) stigma 3) urge 4) quest

I was badly scared when the explosion made the whole house s

1) vacillate 2) resurge 3) decline 4) quake

The poison produced by the frog’s skin is so that it can paralyze a bird or a
monkey immediately.

1) pungent 2) swift 3) lethal 4) treacherous

| Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark your answer sheet.

Air pollution has always accompanied civilizations. Pollution started from the prehistoric
times when man created the first fires. According to (11) in the journal Science, “soot
(12) on ceilings of prehistoric caves provides ample evidence of the high levels of
pollution that was associated with (13) " The forging of metals appears to be a key
turning point (14) significant air pollution levels outside the home. Core samples of
glaciers in Greenland indicate (15) in pollution associated with Greek, Roman and
Chinese metal production, but at that time the pollution was comparatively less and could be
handled by nature.

1)a 1983 article 2) article for 1983 3) a 1983 article 4) article in 1983

1) was found 2) having found 3) found 4) to be found

1) inadequate ventilating open fires 2) inadequate ventilation of open fires

3) open fires inadequate ventilation 4) open fires in inadequate ventilation

1) for creation in 2) in creation for 3) in the creating for 4) in the creation of
1) increases 2) increased 3) the increasing 4) they increased
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheet.

PASSAGE 1

A traction engine is a self-propelled steam engine used to move heavy loads on roads. plough
ground or to provide power at a chosen location. The name derives from the Latin fractus.
meaning 'drawn', since the prime function of any traction engine is to draw a load behind it.
They are sometimes called road locomotives to distinguish them from railway locomotives. A
distinct form of traction engine, characterised by the provision of a large diameter winding
drum driven by separate gearing from the steam engine is the ploughing engine. Onto the drum
a long length of wire rope was wound. which was used to haul an implement, such as a plough,
across a field, while the engine remained on the headland. This minimized the area of land
subject to soil compaction. The winding drum was either mounted horizontally (below the
boiler), vertically (to one side), or even concentrically, so that it encircled the boiler. The
majority were under-slung (horizontal). however. and necessitated the use of an extra-long
boiler to allow enough space for the drum to fit between the front and back wheels. These
designs were the largest and longest traction engines to be built. Mostly the ploughing engines
worked in pairs, one on each side of the field, with the rope from each machine fastened to the
implement to be hauled. The two drivers communicated by signals using the engine whistles. A
variety of implements were constructed for use with ploughing engines. The most common
were the balance plough and the cultivator - ploughing and cultivating being the most
physically demanding jobs to do on an arable farm. Other implements could include a mole
drainer, used to create an underground drainage channel or pipe, or a dredger bucket for
dredging rivers or moats.

16. According to the passage,...........

1. traction engines included implements to create drainage channels
2. the largest and longest traction engines had to be built on farm sites
3. encircled boilers were either under-slung or horizontal

4. mole draining was not as physically demanding as cultivating

17. The passage points to the fact that...............

1. long ropes were fixed on the drum of early ploughing engine
2. traction engines had two classes: road and railway locomotives
3. the wire rope on a ploughing engine was wound near the boiler
4. a variety of implements were sold with traction engines

18. We understand from the passage that (in) ploughing engines...............
1. were also used as communication machines

2. the land subject to soil compaction was cleared mechanically

3. would stay by the side of the implements hauled

4. concentric boilers had a maximum of haulage capacity
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19. It can be understood from the passage that as regards a ploughing engine..............
1. any self-propelled steam engine can function as one

2. there were always two working in pairs on a field

3. the engine did not move while hauling implements

4. the drum had to fit beside the front wheels for space

20. The word ‘dredge’ in the passage (underlined)

1. *drawing water’ 2. “cleaning’
3. *channelling’ 4. *planting near’
PASSAGE 2

A driverless tractor is a form of autonomous technology. It is considered driverless because it
operates without the presence of a human inside the tractor itself. Like other unmanned ground
vehicles (UGVs), they are programmed to independently observe their position, decide speed
and avoid obstacles such as people., animals or objects in the field, while performing their task.
The various driverless tractors are split into full autonomous technology and supervised
autonomy. The driverless tractor is part of a move to increase automation in farming. Other
such autonomous technologies currently utilized in farming include automatic milking and
automatic strawberry pickers. Developing such a technology is difficult. In order for it to be
successful, the tractor must be able to follow deterministic tasks (a task that is defined before it
starts, such as a path to follow on a field), have reactive behaviour (the ability to react to an
unknown situation such as an obstacle in the way), and have reflexive responses (making a
decision without hesitation or time consuming calculations such as changing the steering angle
if necessary). Ultimately, the tractor should imitate a human in its ability to observe spacial
position and make decisions such as speed. Currently, the majority of fully autonomous
tractors navigate using lasers that bounce signals off several mobile transponders located
around the field. These lasers are accompanied with 150 MHz radios to deal with line-of-sight
issues. Instead of drivers, the tractors have controllers. Controllers are people that supervise the
tractors without being inside them. These controllers can supervise multiple tractors on
multiple fields from one location. Tractors that function with supervised autonomy (automated
technology. but with a supervising operator present) use vehicle-to-vehicle (V2V) technology
and communication. There is a wireless connection between the two tractors to exchange and
share data.

21. Which of the following does a driverless tractor NOT have to deal with?

1. reflexive responses 2. transponder location
3. deterministic tasks 4. reactive behaviour
22. The passage deals partly with..........of driverless tractors.

1. different types 2. fuel economy

3. the manufacturing 4. the safety

23. The passage points to the fact that................

1. tractors determine linear positions to make speed decisions

2. nearly all autonomous tractors transmit laser signals to navigate
3. several driverless tractors can be operated by one person only
4. tractors that function with supervised autonomy are called V2V
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24. We understand from the passage that ...............

1. heavy duty autonomous tractors may be manned or unmanned
2. 150 MHz radios deal with probable accident issues

3. wireless tractors quickly share and exchange data

4. driverless tractors are not essentially different from other UGVs

25. The word ‘bounce’ in the passage (underlined) is best related to............
1. ‘rub’ 2. ‘jump’

3. *hold’ 4. “create’
PASSAGE 3

A portable engine is an engine, either a steam engine or an internal combustion engine, that sits
in one place while operating (providing power to machinery), but (unlike a stationary engine)
is portable and thus can be easily moved from one work site to another. Mounted on wheels or
skids, it is either towed to the work site or moves there via self-propulsion. Portable engines
were in common use in industrialised countries from the early 19th through early 20th
centuries, during an era when mechanical power transmission was widespread. Before that,
most power generation and transmission were by animal, water, wind, or human; after that, a
combination of electrification (including rural electrification) and modern vehicles and
equipment (tractors, trucks, cars. engine-generators, and machines with their engines built in)
displaced most use of portable engines. In developing countries today, portable engines still
have some use. although the technologies mentioned above increasingly limit their demand
there as well. In industrialised countries they are no longer used for commercial purposes, but
preserved examples can often be seen at steam fairs driving appropriate equipment for
demonstration purposes. Portable engines during their heyday were typically towed to their
work sites by draft horses or oxen. or, in the latter part of that era. motive power including self-
propulsion or towing by traction engines. steam tractors. other tractors. or trucks. They were
used to drive agricultural machinery (threshing machines), milling machinery (gristmills,
sawmills, and ore mills), pumps and fans (in mines and oil wells), and factory line shafts (for
machine tools, power hammers, presses, and other machines). Apart from threshing work,
portable engines were used to drive corn-mills, centrifugal pumps, stone-crushers, dynamos,
chaff-cutters, hay-balers and saw benches. They were even used to generate electricity for
floodlighting at football matches.

26. We understand from the passage that...............

1. engine-generators function as portable engines today

2. portable engines have limited farm use in industrialised countries
3. agricultural machinery include some milling machinery

4. most built built-in engines are not as efficient as portable engines

27. According to the passage, portable engines were..............

1. the first petrol-using engines 2. used in metal factories

3. modernised into threshing machines 4. mainly used as power hammers

28. The passage points to the fact that portable engines ..............

1. generated human power for factories 2. were initially built for self-propulsion

3. functioned mainly as milling machinery 4. may have the ability to move themselves
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29. It is stated in the passage that portable engines .............
1. would be only mounted on skids in the 19™ century

2. are widespread mechanical power transmission systems

3. could be used where draft horses were not available

4. are used as show pieces in the industrial world today

30. The word ‘gristmill’ in the passage (underlined) is a mill specially used for

grinding................
1. *peas’ 2. ‘potato’
3. ‘corn’ 4. *beans’
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